Engineering Mechanics – Statics CE 201-012 (02 & 03)

Notes: Lectures 1-3




The following notes summarize the key issues introduced in lectures 1 to 3. The issues stressed in these lectures are mainly:

· Addition of vectors using parallelogram construction and trigonometry relations of sines and the law of cosines.

· Expressing a force as a vector.

· Cartesian vectors.

· Components of a force vector using direction angles: 
· Cartesian components of a resultant force:  R = FX  i + Fy  j  + Fz. k 

where: the cartesian unit vectors are aligned along the x-, y-, and z-axis respectively 

as shown below. They form a right-hand coordinate system.
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A general force vector expressed in terms of general components:


F = Fu + Fv










Dr. Saeid A. Alghamdi:
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